N180 O\ NOVELLINI G







= S =3pees (m @

FU8X50 x7 X1 S6 x4 M4x10 x2 X5
4,5x60 x7 3,5x45 x2 4x35 x4 3,5%9,5 x5 »

ISV N
< Iy @ @o”
X1
X1
X1




,, o
98 970-1000 98 970-1000
100 990-1020 100 990-1020
118 1170-1200 118 1170-1200
120 1190-1220 120 1190-1220
138 1370-1400 138 1370-1400
140 1390-1420 140 1390-1420
158 1570-1600 158 1570-1600
160 1590-1620 160 1590-1620
178 1770-1800 178 1770-1800
180 1790-1820 180 1790-1820
O
U=
E:)E'E%;':E
P '}
; Ly A e 19
= =f 2 " 2

1,5













ouT|(




N/
/®

: ;Qg\
A
¥ Y
2 A

i




(o=

A




7~ 50 mm

[ SSSSSS
g3 mm

(>

3,5%9,5 x5

X2

o)
D\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\l
M5x70 x2 " <
‘G
¥
5













Optional

15




Y,
\

/
\

FU8X50 x7 X1
P S
4,5x60 x7 3,5x45 x2

= (mm
S6 x4 M4x10 x2
(o> @XXXD
4x35 x4 3,5%9,5 x5

£

I~




I

o

I

I

L1 mm L2 mm L1 mm L2 mm
80 790-805 780-795 79 785-800 775-790 80 773-788 780-795 79 764-779 775-790
90 890-905 880-895 80 790-805 780-795 90 873-888 880-895 80 769-784 780-795
100 | 990-1005 980-995 89 885-900 875-890 100 973-988 980-995 89 864-879 875-890
90 890-905 880-895 90 869-884 880-895
99 985-1000 975-990 99 964-979 975-990
100 | 990-1005 980-995 100 969-984 980-995
119 | 1185-1200 | 1175-1190 119 | 1164-1179 | 1175-1190
120 | 1190-1205 | 1180-1195 120 | 1169-1184 | 1180-1195
L1 L1
IR}
-~ Q ™\
O%
a FGI|| = | = &
o I
. )
P1 Vi
P S—
Jl El_t—_
o~
L1 (-7 mm) CLEANIT
17 OR
- WATER ONLY
P1 CalS 9l =Ll Jnd vi

17




S

18




===

FU8x50 x3

Janususnunununnnananan 3
4,5x60 x3

[I AN

N

g8 mm

4

=

II\’;< ) \ ) .’
4

S6x2
(T
4x35x2

( AN
@6 mm

N

19







IN

ouT
o

=

%

LTmm

__/
2mm-’
@
B -
Y










b
o

[ ]
M

f//_ !

24







S— v —

26

3,5%9,5 x2
M5x16 x2
M5x8 x2

]






Optional

T 28




/&

Vs
®

T

X1

X1

X1

29

X1

FU8x50 x7 x1 S6 x4 M4x10 x2 X7
4,5x60 x7 3,5x45 x2 4x35x4 3,5%9,5x7 <7
>

<

X2




m P1 L1 mm - P2 L2 mm ﬂ Vi L1 mm - V2 L2 mm
98 980-1010 | 970-1000 80 785-805 775-795 98 959-989 970-1000 80 764-784 775-795
100 | 1000-1030 | 990-1020 90 885-905 875-895 100 | 979-1009 | 990-1020 90 864-884 875-895
118 | 1180-1210 | 1170-1200 100 | 985-1005 975-995 118 | 1159-1189 | 1170-1200 100 964-984 975-995
120 | 1200-1230 | 1190-1220 120 | 1185-1205 | 1175-1195 120 | 1179-1209 | 1190-1220 120 | 1164-1184 | 1175-1195
138 | 1380-1410 | 1370-1400 138 | 1359-1389 | 1370-1400
140 | 1400-1430 | 1390-1420 140 | 1379-1409 | 1390-1420
158 | 1580-1610 | 1570-1600 158 | 1559-1589 | 1570-1600
160 | 1600-1630 | 1590-1620 160 | 1579-1609 | 1590-1620
178 | 1780-1810 | 1770-1800 178 | 1759-1789 | 1770-1800
180 | 1800-1830 | 1790-1820 180 | 1779-1809 | 1790-1820
L1 L1
~ Q T\
N Flll o | o Fl o
)| O oDl
GFL 1= GFL 12
b Ir 1] =5P/ﬂ| [[ 1] =£|. 1
It I] L ]|
P1 Vi
o) Jl E'_t—:' o) T
of T of =t
=
L1 L1
35 35
s s
4\4 10 |
1.7
L1 (-7 mm) L1 (-7 mm)
_1_7_
P1 V1




/mﬂ@ —




FU8x50 x3

g8 mm

S6x2

4x35x2

@6 mm

32










FU8x50 x4

Jananananannasanananansy

4,5x60 x4

@8 mm

ouT







(.
(o
-]




38




—
]
)

0K

[ ]

) (W] [fee——

-

D\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ll
M5x70 x2







3,5%9,5 x2

il

M5x16 x2

]

M5x8 x2

11







Optional

43




60091N18_03 (06 2023)




